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1. Sketch the reglon of integration, reverse the order of integration, and evaluate the inte-

4—z? 2y
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2. Determme whether the series is convergent or divergent. Give your reason.
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3. Find the points on the sphere 2% + y? + 2% = 4 that are colsest to and farthest from the
point (3,1 —1).
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1. Suppose that the first derivative of y = f(z) is ¥ = 6z(z + 1)(z — 2). At what points

does the graph of f have a point of inflection? Answer :

6
2. Evaluate the integral. / zV2x — 3dz. Answer :

3. Find the slope of the tangent line to the graph of 23:y + e*¥ — 2 = 0 at the pomt
P(0,In2). Answer : e

1 x+h
4. Find the limit: ’llin(l) — / V14 t2dt. Answer :
_’

5. Find the limit: lim Z Y ~] . Answer :

n—o0

Inz
6. Find the area under the curve y = —— from z = 1 to z = 0co. Answer :
&*

7. A new drug is introduced through an advertising campaign to a population of 1 mllhon
potential customers? The rate at which the population hears about the drug is assumed to
be proportional to the number of people who are not yet aware of the drug? By the end of
1 year) half of the population has heard of the drug? How many will have heard of it by the

end of 2 years? Answer :

8. Find the absolute maximum value of the function f(z,y) = 22— 2zy+ 2y on the rectangle

D= {(z,y)]0<z<3,0<y <2} Answer :




